MR ms: CHQ:
A FHA: (4F) (H)

RBERIHAE

g BHESRRMOFIR,
IRATIRB SR B BRISIR T AR

BEAESREARLN 30 2,

RETIRENERFERERE,

I RIERR R AR

..............................................................................................................................

PXASEERMENER

GHQ_V1.2_ 30072018

(H)



A. BEAER
Al. EEEE F
A2. MRl '8 [T

A3. &E:
(1A #E%/ [ £ )
b HuAAE:
YN
A4, a HAEBHE: (FF)/ (H)/ (H)
b. &R O'mM7a [(FIRZE (8 &R»ik) [ R #
c. HEZE=EA, TER|RMEHHK:
[ &4 [ 82 se. e 7 4y 1R % %
AS.  IRIRARRE:
S [T e Y-
[ 8 4% [(TRAE [ 1%
Ab. HBERRE:
PR =3y [T 4 %
BT ESE: [(PTRE/ REHUL
A7. T1EjRRE:
%4 [(P#% [ Fpe 2% (138 4k
[T 2% [ sk
A8. I B EIBREE (RPTAFTE—BTENEE, mefR TIERBEE)
Mwﬂﬁ(mﬁu 20-25 &) TAEBE (Bl 65 B R)
A9. BE—REEMAZ(REEES): A, &
ARE: & PR\ 4 bk % " F& %
“Fh % e % “PAK/F%: FAN 2 F %4

GHQ_V1.2_30072018 2



A10. EAIERS BRI ET A (i)

[ 2000 - 4999
[T 30000 - 49999

[1'<2000

115000 - 29999

1 >100000

[1'<2000

[1°15000 - 29999

1" >100000

All. FBERRIB

[(PR#E#
RESHEHBEEN (B) GtERERARERSREE. PR, B2RREHRIN
[T 5000 - 14999

R AT ES

[ 2000 - 4999
[ 30000 — 49999

[(PTRFEZH/ A FEEE

BZE 3 FAEZELIMNRITHIIE?

[ 5000 - 14999
[ 50000 - 99999

[1* 50000 - 99999

X BF B4 B EXR%
BA'|PAT1R?|12K° |35k | 585K | BA1KR®
a. | HHE ] ] ] [] [] ]
b. F|mMURIIHE
(454 BT AR ) . . . » . =
Al2. FBERAEEEDE S EEBINY°
(e %
BELZE X4
(P emme GhriAsmiEsn )
[P (GhixeAsgs: FoBy AE A )
(T 4b
[(T%#F
A13. WNERAEEY, RYHNEYER?
(1" #% (3
(T # : (3
[T & : 3
' & : 1%
[T % : 3
[’ % : 3
T ea:_ &
[ B4b GEEoASMEREASE): (%)
( £)

GHQ_V1.2_ 30072018




Ald. BRERIENEIE?
(1A, B R B % #2 X B RIE R R
[(P¥éas ey (REER?2_ #F)
[T #e Rk AA

AlS. EMEREBREZBRIENEIE?
(A, AE$1? &
[(P¥%as merMEE (AE%A?
[(Pae k%A

Alé. FBERBERBEHREEE?
%
(I AtkDVB—R (Es3BF/5648%) [T&A 1-3=%
(P& 28 1-3 % [(I'&28 4-5 X [(T2x%8X
[(T¥wg fpedie (RBEL? )
[P a2 A

CAOREBEESAY _ F)

Al7. BEBRINHFEHNEE?

(I'A (BT%5x?2_____ %)
B, BEIEE?
(5 AtV iB—R [(PHA 1-3%
(P& 28 1-3 % [(I'&28 4-5 X% [(T2X%8X
[(Fgws RELRE (RBER?_ #)
[P R%AH

GHQ_V1.2_30072018 4



Al8. BRAEEZENEIE? (TEEFYHZE
(A (BT5Xx2_ &)
a. B ZIRE?
(&A% B—% (P4 A 1-3=%
[(T&2# 1-3 % (' 28 4-5 % [(T2F 48X
b. WBEMBEL?
[(Tar % S (PR %
NG 2 )
‘Yuaf o aRERE (RI|ER?_ #)

A19. BREEmHEE?

(A (BT%5Xx2___ &)
a. B ZIEE?
(&A% B—R [P4&A 1-3%
[(P&2# 1-3 % (&2 4-5 % [T2F 48X
b. BEBW—FEHE?
[ 4ok B opavsf [Pz Aok B ayopede [ Z 465
[(T¥wh ERELRE (BRELXA?2_ )
[TPHR%E

GHQ_V1.2_ 30072018



